Page 1

STATUS UPDATE OF DGR EMPANELLED SECURITY AGENCIES FOR UTTRAKHAND AS ON 01 JUL 2025 DATA UPTO 01 JUL 2025

1. Refer MoD/DESW Guidelines for operation / functioning of DGR empanelled ESM Security Services vide letter No 28(75)/2020-D(Res-I) dated 13 May 2021 and Corregendum No 28(75)/2020-D(Res-I) dated 23 June 2021. The Data uploaded herein is compiled duly based on 'Reports and Returns' submitted by Propiretors & their Principal Employer (including requistions & sponsorships) to / with DGR / DRZ's.

2. Number of gds reflected aganist each agency is subject to minor revisions(s) espcecially Under Negotiation' (U/N) column based on differences (if any) between number of gds sponsored by DGR / DRZ's with due date vis-a-vis their materialization as / if / when reported by the Prinicpal employer / concerned proprietors to report diference with documentary proofs.

3. DGR New Delhi will issue Empanelment Certificate for a duration of Five (05) Years or upto the age of 60 Years (whichever is earlier) as per Para 6(a) of MoD OM dated 13 May 2021.

4. Following documents / details will be produced at the time of issuance / renewal of empanelment certificate (in original) : Aadhar Card

- PAN Card
- ESM Identity Card (Issued by ZSB).
- PSARA license.
- Revised Affidavit by Ex-servicemen (Officers) for Security Agency Scheme (Original).
- · Current Bank Account in the name of agency (copy of passbook duly attested).
- · Proof of office (Copy of Rent Agreement / Ownership documents & Landline Bill).
- Mobile number & Email ID.
- GeM Vedor Code.
- Form 26 AS will be downloaded in physical at DGR.
- Photographs 02 Numbers (Passport size).

5. "D" denotes "Documentary deficiency / Violation". Concerned offices may be approached with requisite documents for removal of "D". Proprietors in operation list with remark "D" will not be considered for sponsorship irrespective of Seniority / WL.

6. Proprietor whose Empanelment Certificate is expired / about to expire is requested to contact DRZ (West) for renewal of Empanelment Certificate.

7. Proprietors whose security agency has been placed in 'D' are required to submit the pending documents to DRZ (West) by	
due date.	

(a) Status : Operational SAs

S	Emp	Name of Security Agency		Gd	Detls		Remarks
No	No		Runni ng	U/N	Total	Cumula tive	
1	6404	Gurmail Singh SA Shop No 01, 1st Floor, Sri Sat Guru Plaza, Lane No One, Doon Vihar, Dehradun-248001 Mob No- 9571009555 Tele No- 0135-2736600 gurmailsngh278@gmail.com	13	0	13	1292	 (a) <u>Details of availed gds</u> 08 gds for 07 months = 56 18 gds for 24 months = 432 19 gds for 24 months = 456 03 gds for 12 months = 36 (b) <u>Details of running gds</u> 07 gds for 24 months = 168 06 gds for 24 months = 144 Total Gd Months = 1292
2	7047	Digamber Singh SA Unchapul, Lohariyasal Malla, Near Balaknath Mandir, Haldwani, Nainital, Uttarakhand – 263139, Mob No – 9757107202 Tele No – 05946-293885 Email –Itcdrdsingh@gmail.com	4	0	4	1356	(a) Details of availed gds 07 gds for 12 months = 84 30 gds for 12 months = 360 14 gds for 24 months = 336 10 gds for 24 months = 240 10 gds for 24 months = 240 (b) Details of running gds 04 gd for 24 months = 96 Total Gd Months = 1356
3	7344	Neeraj Chauhan SA House No-110, Lane No-6A, Dev Bhumi Enclave, Miyanwal, Dehradun, Uttarakhand – 248001, Mob No -7060141199 Tele No - 0135-2686268 capt.nirajchauhan@gmail.com	7	0	7	1248	(a) Details of availed gds 45 gds for 24 months = 1080 (b) Details of running gds 04 gds for 24 months = 96 03 gds for 24 months = 72 Total Gd Months = 1248

4	7510	Ashish Singh Rawat SA	52	0	52	1248	Details of running gds
		Behind Primary School, Goniyal					52 gds for 24 months = 1248
		Market, Devi Road, Sitabpur, Kotdwara, Pauri Garhwal-24149					Total Gd Months = 1248
		Mob No - 09634892452					
		Tele No - 01382-222630					
		maj_ashishrawat@yahoo.co.in					
5	6357	Ravi Shah SA	49	0	49	1203	(a) 'D' (Rent agreement exp wef 01/06/25).
		Shop No 03 Lavana Mall, Gtm		-			(b) Details of availed gds
		Forest N Hills, Haridwar Road					03 gds for 09 months = 27
		Mohkampur Dehradun, Dehradun,					(c) Details of running gds
		Uttarkhand-248005					06 gds for 24 months = 144
		9582265251 / 0135-2661722					03 gds for 24 months = 72
		shah.ravishah@yahoo.com					03 gds for 24 months = 72
							17 gds for 24 months = 408
							20 gds for 24 months = 480
6	8058	Devendra Kumar Maithani SA	44	3	47	1221	Total Gd Months = 1203 (a) Details of availed gds
ľ		First Floor, House No. 77, Saket		•			17 gds for 7.5 months = 128
		Colony, Ajabpur Kalan, Dehradun,					10 gds for 10.5 months = 105
		Uttarakhand- 248121					04 gds for 11 months = 44
		Mob No – 8415900102					08 gds for 02 months = 16
		Tele No – 0135-2678566					(b) Details of running gds
		Email – dmaithani@rediffmail.com					04 gds for 04 months = 16
							13 gds for 24 months = 312
							17 gds for 24 months = 408
							10 gds for 12 months = 120
							(c) Details of U/N gds 03 gds for 24 months = 72
7	8389	Surindra Singh Gusain SA	48	0	48	1293	(a) Details of availed gds
		Shop No-37, Shopping Complex,					10 gds for 15 months = 150
		Defence Colony Dehradun,					(b) Details of running gds
		Uttarakhand- 248001					37 gds for 24 months = 879
		Mob No- 9761721566					07 gds for 24 months = 168
		Tele No- 0135-2666740					03 gds for 24 months = 72
		Email- suri_gusain@yahoo.co.in					01 gd for 24 months = 24
8	8397	Bhaskar Bharti SA	39	0	39	1296	Total Gd Months = 1293 (a) 'D' (Rent agreement exp wef 01/05/25).
	0337	Shop No-2, First Floor, Dwarika	55	U	35	1250	(b) Details of availed gds
		Complex, Opp Police Chowki					30 gds for 12 months = 360
		Haridwar Road, Jogiwala,					(c) Details of running gds
		Dehradun (Uttarakhand) - 248001					10 gds for 24 months = 240
		Mob No 9639800025/8108098433					16 gds for 24 months = 384
		Tele No - 0135-2974303					10 gds for 24 months = 240
		bhaskarbhartiagency2022@gmail.					03 gds for 24 months = 72
		com					Total Gd Months = 1296
9	7866	Ashok Kumar Yadav SA	48	3	51	1224	(a) Details of running gds
		C/O Fieldrush Public School, Vill-					18 gds for 24 months = 432
		Karaundi, PO- Bhagwanpur,					30 gds for 24 months = 720
		Haridwar, Uttarakhand-247661 Tele No - 01332-297220					(b) Details of U/N gds $\frac{(b)}{(c)}$ and for 24 months = 72 wef 12/02/25
		Mob No - 8003394922					03 gds for 24 months = 72 wef 13/03/25 Total Gd Months = 1224
		Email - akyy.ascc@gmail.com					
10	9460		10	0	48	1150	(a) 'D' (Pont agreement ever wef 04/02/25)
	0409	Jyotirmaya Bahadur Sony Thapa SA, 150, Badripur Road, Nawada,	48	U	40	1152	(a) 'D' (Rent agreement exp wef 01/03/25). (b) Details of Running gds
		Dehradun, Uttarakhand-248005,					39 gds for 24 months = 936
		Mob No 8135993211					09 gds for 24 months = 330
		Tele No 0135-2665966					Total Gd Months = 1152
		jyotirmayathapa@gmail.com					Will be 'R' Bal Gd Months on receipt of regn.

rage 5

11	9286	Iswari Singh SA 136/2, Smith Nagar, Prem Nagar, Dehraduna, Uttarakhand-248007 9111001947 iswar.parwati7@gmail.com	29	23	52	1248	 (a) Details of running gds 29 gds for 24 months = 696 (b) Details of U/N gds 16 gds for 24 months = 384 wef 26/05/25 07 gds for 24 months = 168 wef 26/05/25 Total Gd Months = 1248
12	9257	Raj Pal Singh SA Jhajra, Haedwali, Near Nimbus Academy of Management, Chakrata Road, PO- Suddhowala, Dehradun, Uttarakhand-248015 8392924705 / 0135-2976296 rajpsingh66@gmail.com	49	0	49	1176	(a) 'D' (Rent agreement not recd wef 01/05/25). (b) Details of running gds 20 gds for 24 months = 480 19 gds for 24 months = 456 10 gds for 24 months = 240 Total Gd Months = 1176 Will be 'R' Bal Gd Months on receipt of reqn.
13	9429	Puneet Bhalla SA 1/2 Lane No 2 Shastri Nagar, Haridwar Road Dehradun, Dehradun, Uttarakhand-248001 9953269811 / 0135-2974599 pntbhalla@yahoo.co.in	45	4	49	1207	(a) Details of availed gds 37 gds for 01 month = 37 42 gds for 03 months = 126 (b) Details of running gds 33 gds for 20 months = 660 12 gds for 24 months = 288 (c) Details of U/N gds 04 gds for 24 months = 96 wef 25/04/25 Total Gd Months = 1207
14	9722	Debkinandan Joshi SA Vasant Kunj, Lane No-3, Thakurpur Road Shyampur, Ambiwala, Prem Nagar, Dehradun, Uttarakhand-248007, 7588691824 / 0135-3159704, debjoshi@gmail.com	0	47	47	1058	Details of U/N gds 27 gds for 24 months = 648 wef 13/03/25 03 gds for 24 months = 72 wef 07/04/25 03 gds for 24 months = 72 wef 25/04/25 14 gds for 19 months = 266 wef 25/04/25 Total Gd Months = 1058 Will be 'R' Bal Gd Months on receipt of regn.
15	9703	Kailash Chandra SA 1st Floor, Near Uniyal Aata Chakki, Krishna Market, Subhas Nagar, Dehradun-248002 9968216003 / 0135-2640502 kailashc0005@gmail.com	36	14	50	1200	(a) Details of running gds 36 gds for 24 months = 864 (b) Details of U/N gds 14 gds for 24 months = 336 wef 26/05/25 Total Gd Months = 1200
16	9542	Deep Bahadur Rana SA First Floor, Khasra No 1307, Raja Road Chowk, Selaqui, Dehradun, Uttarakhand - 248007 8800970444 dbrana63@hotmail.com	0	52	52	1248	Details of U/N gds 52 gds for 24 months = 1248 wef 25/04/25 Total Gd Months = 1248
17	9861	Brijesh Kumar Sharma SA 1455 Mohalla Chavmandi, Mouja Shekhpuri, Tehsil Roorkee, Haridwar, Uttarakhand-247667 9868801086 brijeshcemz@gmail.com	0	49	49	1176	Details of U/N gds 12 gds for 24 months = 288 wef 26/05/25 20 gds for 24 months = 480 wef 26/05/25 17 gds for 24 months = 408 wef 26/06/25 Total Gd Months = 1176 Will be 'R' Bal Gd Months on receipt of reqn.
18	9859	Karan Bhagat SA 7/B, Ground Floor, Gau Ghat, Shiv Ganga Vihar, Dadupur, Govindpur, Bahardrabad, Haridwar, Uttarakhand-249402 9411548813 karanbhagat1967@gmail.com	0	0	0	0	WL-1 (SA requested to withdraw name from SA scheme, Noting for dis-emp fwd to DGR)
19	9968	Harish Barthwal 135 Telpura Ceneral Hop Town Tehsil Vikas Nagar Distt Dehradun, Uttarakhand-248197 9958957550 hbarthwal@yahoo.co.in	0	10	10	240	Details of U/N gds 10 gds for 24 months = 240 wef 26/06/25 Total Gd Months = 240 Will be 'R' Bal Gd Months on receipt of reqn.

Page 4

20	10043	Satya Prakash Singh Shop No 1 Near Shaitan Chowk Telpura Atak Farm Selakui Centeral Hope Town Tehsil Vikas Nagar, Dehradun, Uttarakhand- 248011, 9682340775, satyaprakashdgr03@gmail.com	0	0	0	0	WL-1
21		Rajbir Singh Sangwan Khasra No 724, 4th Floor, UK Tower Near Bala Sundri Mandir, Canal Road, Dehradun, Uttarakhand-248003 9906259682 sangwandgr02@yahoo.com	0	0	0	0	WL-2
(b)	Status	:Overage SAs					
S		Name of Security Agency	Date of		Running Gds		Remarks
No			Overage		40		
1		Lokendra Singh Chauhan SA	31.0			0	'D' (Str Return & 26 AS not recd & Rent exp)
2	7524	Jagjeet Singh Rautela SA	30.0	6.23	3	81	'D' (Str Return not recd & Rent Agreement exp)
3	8258	Nandan Singh SA	31.0	7.24	4	7	'D' (Rent Agreement exp & Str Return not recd)
4	8311	Vishnu Datt SA	27.0	2.25		54	
5	8507	Sharat Sharma	27.0 ⁻	1.24	4	13	'D' (Str Return not recd & Rent Agreement exp)
6	8510	Sagar Shahi SA	23.1	2.24	e	5	'D' (Str Return not recd & Rent Agreement exp)